1. Match the Taylor series with the functions. Place the number (Roman numercal) of the appropriate
series in the center column, to the right of the given function.
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2. Determine whether the series is convergent or divergent. In ¢i

your answers.
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3. Determine whether the series is absolutely convergent, conditionally convergent or divergent. In any case,
explaln why.

2 x+2=

X,;% =

Inn 3 'QV\ X L’H/ . I/Y
& T 0. = I
.{—

wF2x 6

N a e
g e g etk
k> @ x(exe=) x » oo Y oy EZ 2
x

2(ver)

3 n
(b) > (-1 a.. = ,,

21 ___L”
%/1,/7\,\9/ T 1

P = —
(1mn) (»m-f-;) Cz"?) !

¥ ")

/\UUO (e  frean %rm’lf"’*&"\\ wm)(ww)
'\\_,..,4 Q,\ #W N >/
L lM“/(’ ver)! P T

T Gw ! ﬂ@nnj)( the))

3 b
; ﬁ ‘. = 4
n=t 2n). gl



o n
4. For what values of z does the following power series converge: z(-l)”%. (You must show all of
n
n=0
your work.)
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5. (a) Sketch the curve represented by the parametric equation z = 3t—1,y = 2t +1,0 < ¢ < 2 and write the
corresponding rectangular/Cartesian equation for the curve. Make sure to include the direction of motion in
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(b) Find the length of the parametric curve z = v/t, y =3t — 1, 0 <t < 1. You do not have to evaluate the
integral.
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6. Show that the Maclaurin series for the function f(z) = cos(7z),
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(which converges for all real =) converges to f(z), i.e. show that T'(z) = f(z).




7. Use power series to solve the differential equation y' = 7y with initial value y(0) = 1.
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8. On the axes given below plot the function y =e

sin z

9. Plot the parametric curve x = —et

/2 y= esint
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curve is traversed as t goes from Ppo-37—

—4 < t < 2. Indicate the direction by arrows that t}ﬁ \l\}r
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10. Suppose for the parametr_ig curve = %W,W we found the following expression for the
length of the curve: L = K\/t + (3t —1)2dt. Find L.
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